PS-5, 6-8, 9-12

KBE APPROVAL DATE: APRIL 2012 (tentative)

HENDERSON COUNTY DISTRICT FACILITIES PLAN

PLAN OF SCHOOL ORGANIZATION

- 1. Current Plan
- 2. Long Range Plan P, K-5, 6-8, 9-12

SC	HOOL CENTERS	Status	Organization	add 1% in 6 yrs	Student <u>Enrollment</u> Capacity
1.	Secondary				
	a. Henderson County High School	Permanent	9-12 Center	2100	2075/1671
	b. KY Tech Career & Technology Education	Permanent	9-12 Center		n/a
	c. Central Learning Center	Permanent	PS-12 Center		96
2.	Middle				
	a. Henderson County North Middle School	Permanent	6-8 Center	820	810/677
	b. Henderson County South Middle School	Permanent	6-8 Center	670	664/615
3.	Elementary				
	a. Bend Gate Elementary School	Permanent	PS-5 Center		545/511
			to become K-5 Co	enter	550/558
	b. Cairo Elementary School	Permanent	PS-5 Center		290/307
			to become K-5 Co	enter	300/329
	c. Chandler Elementary School	Permanent	PS-5 Center		343/425
			to become K-5 Ce	enter	350/450
	d. East Heights Elementary School	Permanent	PS-5 Center		546/516
			to become K-5 Ce	enter	550/536
	e. Jefferson Elementary School	Permanent	PS-5 Center		346/397
			to become K-5 Ce	enter	350/417
	f. Niagara Elementary School	Permanent	PS-5 Center		361/385
			to become K-5 Ce	enter	375/429
	g. South Heights Elementary School	Permanent	PS-5 Center		554/525
			to become K-5 Co	enter	575/550
	h. Spottsville Elementary School	Permanent	PS-5 Center		508/491
			to become K-5 Co	enter	525/516
	i. Preschool Building	Permanent	PS Center		300/400

CAPITAL CONSTRUCTION PRIORITIES (Schedule after the 2012 Biennium)

-		dditions of educational fac	cilities; including expansions, l	kitchens, cafeterias, libraries	, Eff. %	Coat E-4			
		toriums, and gymnasiums.			E11, %	Cost Est			
Majo casev repla HVA	Bend Gate Elementary School 68,400 sf. Major Renovation to include; site development, paving, parking, secure entrance, remodel casework at entrance, replace carpet, airlocks, snow guards, bird protections, roof replacement, remodel entire pod area, 4 resource rooms, FRC, PE storage and office, gym HVAC, HVAC & controls replacement, power, ltg, electrical, plumbing, fire protection and annunciation systems, technology, ADA accessibility. \$7,279,771								
	truct: 1	•••	800 sf.	800 sf.	74%	\$216,432			
	1	Music Classroom	800 sf.	800 sf.	74%	\$216,432			
	1	Art Classroom	800 sf.	800 sf.	74%	\$216,432			
Majo repla wind	cement, blea ow replacen	n to include; site developme achers, parking, roof replace nent, remodel admin suite, r	ement, doors, hardware, dr emodel 2 resource, PE off	inking fountains, ice, HVAC and					
	-	nent, electrical, lighting and		rotection and		¢2 612 526			
	truct: 1	tems, fire alarm, technolog Conference	y, ADA accessionity. 270 sf.	270 sf.	74%	\$3,613,535 \$73,046			
Cons	1 l	Guidance Office	150 sf.	150 sf.	74% 74%	\$40,58			
	1	Records Storage	150 sf.	150 sf.	74%	\$40,58			
	1	Resource Classroom	400 sf.	400 sf.	74%	\$108,21			
	1	Art Classroom	800 sf.	800 sf.	74%	\$216,432			
3 Cent	al Learning	Center		33,168 sf.					
inter corri HVA and a 4 Char	or gutter rep dor walls to C and contr nnunciation dler Elemer	on to include; site development placement, tuckpointing, can deck, doors, hardware and rols replacement, electrical, n systems, fire alarm, ADA a ntary School	pet replacement, secure er windows, interior finishes lighting and controls, plun accessibility for handrails,	ntrance, replace and accessories, nbing, fire protection toilets. 51,228 sf.		\$4,034,376			
for F	RC, two res	on to include secure entrance ource rooms and PE office and annunciation systems, fire	and storage, HVAC and c	ontrols replacement,					
Con	truct: 1	Art Classroom	800 sf.	800 sf.	74%	\$3,043,290 \$216,432			
		mentary School		64,913 sf.	7170	¢210,101			
in gy finisl stora elect	m, gym blea les and acce ge, remodel rical, lightin	on to include; site development achers, gym floor, replace ca essories, remodel entire pod for custodial receiving and g and controls, plumbing, fi essibility for toilets, drinking	arpet, roof replacement, do area, remodel admin suite FRC, HVAC and controls re protection and annuncia	oors, hardware, interior , add PE office and replacement, ation systems, fire		\$10,396,466			
	truct: 1	Music Classroom	800 sf.	800 sf.	74%	\$216,432			
	1	Art Classroom	800 sf.	800 sf.	74%	\$216,432			
	1								
	1	Standard Classroom	800 sf.	800 sf.	74%	\$216,432			

Major Renovation to include; site development, paving, relocate storage bldg., tuckpointing, roof replacement, remove skylight, secure entrance, enclose breezeways, band and vocal acoustics, covered canopy at kitchen, overhead doors in CTE, doors, hardware and windows, interior finishes and accessories, welding exhaust, HVAC and controls upgrade, electrical, lighting and controls, plumbing, fire protection and annunciation systems, fire alarm, ADA accessibility for toilets, drinking fountains.

Construct:

ty for toilets, drinking fountains.	\$27,646,761
2 Health Science Labs 1,200 sf. 2,400 sf. 68	8% \$766,235
4 Shop Classrooms 750 sf. 3,000 sf. 68	8% \$957,794
1 HVAC Shop/Clrm 3,000 sf. 3,000 sf. 68	8% \$957,794
1 Cosmetology Shop/Clrm 1,170 sf. 1,170 sf. 68	8% \$373,540
1 Testing Room - CTE 400 sf. 400 sf. 68	8% \$127,706
1 Meeting Room - CTE 800 sf. 800 sf. 68	8% \$255,412

Major doors a finishes first aid lockers lighting	Renovati at boys to s and acc d, upgrad d, gym HV g and con	nty North Middle School on to include; site developm ilets, abate asbestos, doors, essories, secure entrance, re e Life Skills, office admin r VAC, replace carpet, airlock trols, plumbing, fire protect elevator, toilets, handrails.	hardware, storefronts and model for YSC, 3 science emodeling, gym floor, blea ss, HVAC and controls rep	windows, interior rooms, add toilet to achers, lighting, lacement, electrical,		\$8,742,788
Constru	•		750 sf.	4,500 sf.	71%	\$1,293,592
	1		375 sf.	375 sf.	71%	\$107,799
	1		1,200 sf.	1,200 sf.	71%	\$344,958
	1	Science Classrooms	1,000 sf.	1,000 sf.	71%	\$287,465
Major steps a replace remode windov lighting	Renovation and concreation ment, see el for con vs, interior g and con er rooms	1	n music wing, wall repair a nings, cafeteria steps, add to room, remodel guidance, HVAC and controls replac ion and annunciation syste drails, guardrails. 900 sf.	tt second floor, roof oilets at basement, doors, hardware and ement, electrical, ems, fire alarm, exhaust 900 sf.	71%	\$6,169,950 \$258,718
	1	Media Center Addition	1,339 sf.	1,339 sf.	71%	\$384,915
Major secure kitchen electric	Renovati entrance, a - 2 servi cal, lighti intercom ear.	Resource Room	ndows, remodel for 2 reso ad accessories, HVAC and fire protection and annunci	urce rooms, FRC, and controls replacement, ation systems, fire	74% 74% 74%	\$5,589,692 \$216,432 \$216,432 \$67,635
Major secure records accesso	Renovati entrance, curricu ories, HV otection a	tary School on to include; site developm add bleachers, upgrade kite lum and conference rooms, AC and controls replacement nd annunciation systems, fin	chen equipment, remodel fo custodial receiving, interio nt, electrical, lighting and o	or FRC, first aid, or finishes and controls, plumbing,		\$3,591,910
Constru	uct: 5	Resource Room	400 sf.	2,000 sf.	74%	\$541,081
	1		800 sf.	800 sf.	74%	\$216,432
	1		800 sf.	800 sf.	74%	\$216,432
	1	5	5,500 sf.	5,500 sf.	74%	\$1,487,973
11 South I	Heights E	lementary School		57,253 sf.		
water r hardwa remode HVAC	neter, roo re, secur el for FR(and cont	on to include; site developm of replacement w/ snow guar e entrance, add bleachers, ac C, Asst princ office, change rols replacement, electrical, nd annunciation systems, fin	rds, soffit repair, window s dd freezer in kitchen, repla room in FMD, interior fini lighting and controls, sou	ill repair, doors, ace carpet, airlocks, ishes and accessories, nd system, plumbing,		\$5,514,921
Constru			400 sf.	2,400 sf.	74%	\$649,297

The Kentucky Department of Education, Division of Facilities Management A-10

		1 1	Art Classroom Gymnasium	800 sf. 5,500 sf.	800 sf. 5,500 sf.	74% 74%	\$216,432 \$1,487,973
	carpet, air equipmen HVAC an	novatio locks, c t, replac d contr ciation	n to include; site develo control joints in brick, r ce bleachers, remodel fo rols replacement, electri systems, fire alarm, sou	opment, paving, landscaping, seplace all folding walls in clrr for PE storage, interior finishes cal, lighting and controls, plus and system, ADA accessibility 400 sf. 800 sf. 270 sf.	ms, upgrade kitchen s and accessories, mbing, fire protection	74% 74% 74%	\$3,879,075 \$432,865 \$216,432 \$73,046
2d.	KERA Stran	ds New	Additions: Preschool, S	BDM Office & Conf., Fam. Res.		Eff. %	Cost Est.
	Provide fi capability Construct	xed act for har : 50	nd-held student assessm Interactive Smart Boa	ors in all classrooms district w ents and remote operation. ards \$6,500 ES (Regardless of Schedu) per clrm. \$	325,000	
				or expansions including; kitchen, ca			
5.	auditoriums and g			or expansions including; kitchen, ca	areterias, administrative areas	s, Eff. %	Cost Est.
	1. Henderson Construct		ty High School Auditorium (2000 sea	at)	314,690 sf. 6,500 sf.	68%	\$2,075,221
4.	Management	suppor	rt areas; Construct, acquis	ition, or renovation of central offices	s, bus garages, or central store	es Eff. %	Cost Est.
	and distric Construct 2. Maintenar Major ren	novatio et wide : Cons nce Bld ovatior	telephone system. struct a new central offi g. 1 to include; roof repair,	n of existing bldg., data netwo ce facility. secure entrance, ADA toilets and emergency lights, provide	25,000 sf. 13,377 sf. s, doors, hdwe, asphalt	74%	\$583,721 \$6,851,351 \$281,051
	3. Central B	us Gara	ige		8,103 sf.		\$281,051
	Major Ren asphalt pa rework dr Construct 4 Warehous Major ren	novatio ving, a ainage, : 1 e Bldg. ovation	n to include; roof replac dd fire protection, add h provide emergency ligh Training Room	cement, ADA toilets, doors, h handrails, secure entrance, upg nting, phone system and upgra 500 sf. bilets, secure entrance, ADA h and controls.	dwe, replace windows, grade bus heater/power, ade electric power. 500 sf. 6,600 sf.	74%	\$899,212 \$113,311 \$73,386
	5 Academy/ Major ren concessio	Centra ovation n, footb	l Server Bldg. 1 to include; ADA toilet	s, doors/hdwe, asphalt paving alarm, exterior security lightin	-		\$102,864
	6 Central St Construct	-	struct a new central stor	age facility.	5,000 sf.	74%	\$751,014

7 Central Frozen Food Storage					
Construct:	Construct a new central food storage facility.	5,000 sf.	74%	\$751,014	
DISTRICT NEED				\$114,341,368	

5. Discretionary Construction Projects; Functional Centers; Improvements by new construction or renovation. Estimated Costs of these projects will not be included in the FACILITY NEEDS ASSESSMENT TOTAL.

			-					
1.	1. Academy Building 5,520 Construct: Outdoor storage/concession for stadium						\$219,324	
2			-		10,740 sf.			
2	•	-	to include; asphalt paving	g and lighting	10,710 51.		\$40,000	
3	Baseball Pract	tice	Facility		2,880 sf.			
				C and controls, upgrade ele	,			
	lighting.						\$46,850	
	Construct:	1	Storage Room	500 sf.	500 sf.	74%	\$75,101	
		2	Restrooms	50 sf.	100 sf.	74%	\$15,020	
		1	Equipment Room	300 sf.	300 sf.	74%	\$45,061	
4	Baseball Press	s Bo	X		1,230 sf.			
	Major renovat	ion	to include; ADA toilet re	modeling, ADA doors, hdw	e		\$92,016	
5	Football Press	s Bo	X		14,830 sf.			
	Major renovation to include; ADA toilet remodeling, ADA doors, hdwe, ADA							
				k drainage/asphalt, asphalt p				
	lockers, and equipment, add fire suppression, backflow preventers, fire alarm, A/V							
	devices, upgra	ide 1	lighting and controls, pow	ver, service entry, HVAC and	d controls,			
	exhaust and ve	entil	lation.				\$1,272,566	
6	Soccer Press H	Box			742 sf.			
	Major renovat	ion	to include; ADA toilet re	modeling, ADA doors, hdw	e, add service			
	drive to bldg.						\$59,100	
7	Tennis Bldg.				557 sf.			
	e	tion	to include; ADA toilet re	modeling			\$8,000	
	•			6				
8			ootball Stadium		592 sf.			
	•			ng on exterior, ventilation/e	xhaust system,		¢10 40 ¢	
	and power. A	DA	doors/hdwe.				\$12,496	
9	Red Storage B	Build	ding		2,880 sf.			
	-		to include; security lighti	ng on exterior			\$3,888	
				-			+2,250	

10. Chandler Elementary School	51,228 sf.
Major Renovation to include; site development, paving, concrete repair, replace	e carpet,
replace folding wall, electrical, lighting & controls, plumbing, technology,	

\$1,438,312

11. Henderson C	Count	ty High School		314,690 sf.		
Construct:	6	Standard Classrooms	750 sf.	4,500 sf.	68%	\$1,436,691
	4	Science Classrooms	1,000 sf.	4,000 sf.	68%	\$1,277,059
	2	Science Lecture Labs	1,625 sf.	3,250 sf.	68%	\$1,037,610
	2	Computer Labs	1,280 sf.	2,560 sf.	68%	\$817,318
	1	Resource Room	375 sf.	375 sf.	68%	\$119,724
12. Henderson C	Count	y North Middle School		101,699 sf.		
Construct:	2	Science Classrooms	1,000 sf.	2,000 sf.	71%	\$574,930
	1	Conference	270 sf.	270 sf.	71%	\$77,615
	5	Admin Offices	150 sf.	750 sf.	71%	\$215,599
13. Henderson C	Count	y South Middle School		122,699 sf.		
Construct:	1	First Aid	150 sf.	150 sf.	71%	\$43,120
	1	Conference	270 sf.	270 sf.	71%	\$77,615
	1	Records Room	150 sf.	150 sf.	71%	\$43,120
	1	Curriculum Office	150 sf.	150 sf.	71%	\$43,120
14. Jefferson Ele	14. Jefferson Elementary School			47,151 sf.		
Construct:	1	Gymnasium	5,500 sf.	5,500 sf.	74%	\$1,487,973
15. Spottsville E	Eleme	entary School		52,648 sf.		
Construct:	1	FRC	300 sf.	300 sf.	74%	\$81,162